
Order of Operations (Whole Numbers)

Division

No Parentheses (3-4 steps)

1 .  28 − 30 ÷ 5 + 8 × 2

2 .  12 + 48 ÷ 8 − 3 × 5

3 .  36 − 4 × 6 + 36 ÷ 6

4 .  22 − 2 × 4 + 21 ÷ 3

5 .  40 − 7 × 3 + 14 ÷ 2

6 .  18 + 30 ÷ 6 − 4 × 3

7 .  39 − 28 ÷ 4 + 6 × 6

8 .  10 − 2 × 6 + 24 ÷ 4

9 .  22 + 16 ÷ 4 − 3 × 8

10 .  40 − 2 × 7 + 12 ÷ 3



 

Answers

Order of Operations (Whole Numbers)

Division

No Parentheses (3-4 steps)

1 .  38

2 .  3

3 .  18

4 .  21

5 .  26

6 .  11

7 .  68

8 .  4

9 .  2

10 .  30


